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Marking Scheme 

Strictly Confidential 

(For Internal and Restricted use only) 

Senior Secondary School Certificate Examination, 2025 

SUBJECT NAME  BIOLOGY  (Q.P. CODE 57/7/2) 

 

General Instructions: - 

 

1  You are aware that evaluation is the most important process in the actual and correct 

assessment of the candidates. A small mistake in evaluation may lead to serious problems 

which may affect the future of the candidates, education system and teaching profession. 

To avoid mistakes, it is requested that before starting evaluation, you must read and 

understand the spot evaluation guidelines carefully. 

2  “Evaluation policy is a confidential policy as it is related to the confidentiality of the 

examinations conducted, Evaluation done and several other aspects. Its’ leakage to public 

in any manner could lead to derailment of the examination system and affect the life and 

future of millions of candidates. Sharing this policy/document to anyone, publishing in 

any magazine and printing in Newspaper/Website, etc. may invite action under various 

rules of the Board and IPC.” 

3  Evaluation is to be done as per instructions provided in the Marking Scheme. It should not 

be done according to one’s own interpretation or any other consideration. Marking 

Scheme should be strictly adhered to and religiously followed. However, while 

evaluating, answers which are based on latest information or knowledge and/or are 

innovative, they may be assessed for their correctness otherwise and due marks be 

awarded to them. In class-XII, while evaluating two competency-based questions, please 

try to understand given answer and even if reply is not from marking scheme but correct 

competency is enumerated by the candidate, due marks should be awarded.  

4  The Marking scheme carries only suggested value points for the answers 

These are in the nature of Guidelines only and do not constitute the complete answer. The 

students can have their own expression and if the expression is correct, the due marks 

should be awarded accordingly. 

5  The Head-Examiner must go through the first five answer books evaluated by each 

evaluator on the first day, to ensure that evaluation has been carried out as per the 

instructions given in the Marking Scheme. If there is any variation, the same should be 

zero after delibration and discussion. The remaining answer books meant for evaluation 

shall be given only after ensuring that there is no significant variation in the marking of 

individual evaluators. 

6  Evaluators will mark( √ ) wherever answer is correct. For wrong answer CROSS ‘X’ be 

marked. Evaluators will not put right (✓)while evaluating which gives an impression that 

answer is correct and no marks are awarded. This is most common mistake which 

evaluators are committing. 

7  If a question has parts, please award marks on the right-hand side for each part. Marks 

awarded for different parts of the question should then be totaled up and written in the 

left-hand margin and encircled. This may be followed strictly. 

8  If a question does not have any parts, marks must be awarded in the left-hand margin and 

encircled. This may also be followed strictly. 

9  If a student has attempted an extra question, answer of the question deserving more marks 

should be retained and the other answer scored out with a note “Extra Question”. 
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10  No marks to be deducted for the cumulative effect of an error. It should be penalized only 

once. 

11  A full scale of marks  0 to 70 marks  has to be used. Please do not hesitate to award full 

marks if the answer deserves it. 

12  Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours 

every day and evaluate 20 answer books per day in main subjects and 25 answer books 

per day in other subjects (Details are given in Spot Guidelines). This is in view of the 

reduced syllabus and number of questions in question paper. 

13  Ensure that you do not make the following common types of errors committed by the 

Examiner in the past:- 

● Leaving answer or part thereof unassessed in an answer book. 

● Giving more marks for an answer than assigned to it. 

● Wrong totaling of marks awarded on an answer. 

● Wrong transfer of marks from the inside pages of the answer book to the title 

page. 

● Wrong question wise totaling on the title page. 

● Wrong totaling of marks of the two columns on the title page. 

● Wrong grand total. 

● Marks in words and figures not tallying/not same. 

● Wrong transfer of marks from the answer book to online award list. 

● Answers marked as correct, but marks not awarded. (Ensure that the right tick 

mark is correctly and clearly indicated. It should merely be a line. Same is with 

the X for incorrect answer.) 

● Half or a part of answer marked correct and the rest as wrong, but no marks 

awarded.  

14  While evaluating the answer books if the answer is found to be totally incorrect, it should 

be marked as cross (X) and awarded zero (0)Marks. 

15  Any unassessed portion, non-carrying over of marks to the title page, or totaling error 

detected by the candidate shall damage the prestige of all the personnel engaged in the 

evaluation work as also of the Board. Hence, in order to uphold the prestige of all 

concerned, it is again reiterated that the instructions be followed meticulously and 

judiciously. 

16  The Examiners should acquaint themselves with the guidelines given in the “Guidelines 

for Spot Evaluation” before starting the actual evaluation. 

17  Every Examiner shall also ensure that all the answers are evaluated, marks carried over to 

the title page, correctly totaled and written in figures and words. 

18  The candidates are entitled to obtain photocopy of the Answer Book on request on 

payment of the prescribed processing fee. All Examiners/Additional Head 

Examiners/Head Examiners are once again reminded that they must ensure that evaluation 

is carried out strictly as per value points for each answer as given in the Marking Scheme. 
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MARKING SCHEME 

Senior Secondary School Examination, 2025 

BIOLOGY (Subject Code–044) 

[Paper Code: 57/7/2] 

                                                                                                                Maximum Marks: 70 

 

S.No. 
                EXPECTED ANSWERS/VALUE POINTS 

MARKS TOTAL 

MARKS 

 SECTION A   

1. 

 

(B) / Modified bacterial plasmid 

 

1 1 

2.  

(C) /        

1 1 

3. (B) / Macrophages – Mucus-secreting cells that trap microbes entering into 

the body. 

1 1 

4. (B) / Unequal cells- a larger haploid secondary oocyte and a smaller haploid 

polar body. 

1 1 

5. (A) / All tall.   1 1 

6. (B) / ELISA – Antigen antibody interaction. 1 1 

7. (D) / Morphine is often given to persons who have undergone surgery as a 

painkiller. 

1 1 

8. (A) / 8·1% 1 1 

9. (C) / Bacillus thuringiensis  1 1 

10. (A) / P – Top Carnivore ,   Q – Detritus ,   R – Secondary Consumer   1 1 

11. (C) / Short non-coding repetitive sequences forming a large portion of 

eukaryotic genome. 

1 1 

12. (A) / Multicarpellary, Apocarpous 1 1 

13. (A) / Both Assertion (A) and Reason (R) are true and Reason (R) is the 

correct explanation of the Assertion (A).  

 

1 1 

14. (C) /  Assertion (A) is true, but Reason (R) is false. 1 1 

15. (C) / Assertion (A) is true, but Reason (R) is false. 1 1 

16. (A) / Both Assertion (A) and Reason (R) are true and Reason (A) is correct 

explanation  of Assertion (A) 

1 1 
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SECTION B 

17. (a) Cry gene  from Bacillus thuringiensis has been introduced into cotton 

plants.  

The gene produces  inactive toxin protein (protoxin), when the insect ingests 

this protein it gets converted to an active toxin due to alkaline pH of the 

insect gut, and binds to the surface of midgut epithelial cells of insects and 

create pores that causes cell swelling and lysis and death of insect.   

                                           OR 

(b) Molecular diagnostic techniques :  

- PCR (Polymerase chain reaction) – This technique can detect presence of 

bacterial or viral pathogen in very low concentration i.e. helps in early 

detection of a disease. 

-Mutations of genes in suspected cancer patients can be detected by 

hybridising a probe with the complementary DNA in the cells of patient 

followed by detection using autoradiography.   

-Enzyme-linked immunosorbent assay (ELISA) is based on principle of 

antigen antibody interaction /detect antibodies synthesized by the body 

against the specific antigen / detect presence of antigen in the patient   

                                                           (Any two techniques) 

 

½ 

 

 

 

½x3 

 

 

 

 

 

 

 

 

1+1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2 

18. (a) 

• The human body produces antibodies against the vaccine which 

would neutralise the pathogenic agents during actual infection, 
Vaccines also generate memory B and T cells.  

• Vaccination will prevent occurrence of diseases by quickly 

recognising the pathogen and producing antibodies hence making 

society disease free.                                                                        

    

OR 

(b) Mucus coating of the gastrointestinal tract/ Acid in the stomach /saliva in 

mouth  

                                                                                (Any two barriers) 

                                                                                                                          

                                                                    

 

 

½+½ 

 

1 

 

 

 

 

1+1 

 

 

 

 

 

 

 

 

 

 

2 

 

19. (a) Signals for parturition arise from fully developed foetus and 

placenta which induce mild uterine contractions, called foetal ejection 

reflex, this triggers release of oxytocin  from maternal pituitary,  which 

act on uterine muscle and causes stronger uterine contractions.

  

OR 

(b) 

(i) Menstrual cycle ceases / menopause occur around 50 years of age.   

(ii) During oogenesis Meiosis I and II are unequal divisions which form 

one large cell and a smaller polar body  /  The unequal cell formation will 

ensure that the large cell has more cytoplasm and more nutrient reserve for 

better survival of the zygote. 

Meiosis I and II are equal divisions in spermatogenesis.   

½x4 

 

 

 

 

 

 

1 

 

½ 

 

½ 

 

 

 

 

 

 

 

 

 

 

 

2 
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20. (a) Dryopithecus / Ramapithecus  (Any one primate) 

(b) Tanzania/ Ethiopia   (Any one place)   

(c) Australopithecines 

(d)    Homo erectus 

 

½x4 

 

 

 

2 

21. (a) Drosophila melanogaster  

(b) 

-Could be grown on simple synthetic medium in laboratory. 

-Complete life cycle in 2 weeks / short life span 

-Single mating produce large number of flies.  

-Clear difference between male and female /shows sexual dimorphism  

-Many types of hereditary variations seen under low power of microscopes.  

                                                                    (Any two reasons ) 

                                                                                                                                       

1 

 

 

 

½x2 

 

 

 

 

 

 

 

 

 

2 

                                             SECTION C   

22. In an aquatic ecosystem-Grazing food chain (GFC).  

  

In a terrestrial ecosystem-Detritus food chain (DFC).   

 

 

Differences –  

                                                                              (Any two differences ) 

Grazing Food Chain Detritus food chain 

Transfer of energy starts 

from producers in a food 

chain. 

Transfer of energy starts from 

detritus /decomposing organic 

matter. 

More energy flows 

through this. 

Less amount of energy 

flows through this . 

Energy obtained from Sun 
Energy obtained from 

dead organic matter 

Major conduit of energy in 

aquatic system 

Major conduit of energy in 

terrestrial system 

½ 

½ 

 

 

 

 

 

 

 

 

1x2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 

23. • Process involved  is RNA interference (RNAi) 

 

• Using Agrobacterium vectors nematode-specific genes were 

introduced into the host plant, the introduction of DNA 

was such that it produced both sense and anti-sense RNA in the host 

cells, these two RNAs being complementary to each other formed a double 

stranded (dsRNA) that initiated RNAi and thus, silenced the specific mRNA 

of the nematode leading to its death in transgenic host. 

1 

 

 

½x4 

 

 

 

 

 

 

 

 

3 

24. (a) ‘A T C G T A C T A’  

(b) Base pairs are held by weak hydrogen bonds/ A pairs with T with two H-

bonds and G pairs with C forming three H-bonds  

 

1 

 

1 
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(c)  

• In a double-stranded DNA the ratios between Adenine and Thymine 

and Guanine and Cytosine are constant and equal to one . 

 

• Erwin Chargaff                                                             

 

 

½ 

 

 

½ 

 

 

 

 

 

3 

25.  (a) 

Oral Pills 

Merits – Effective with less side effects/reversible/ cost effective/ user   

friendly.  

 

Demerits – Have side effects when taken for a long time/ Pills if not taken 

and not repeated in a particular pattern may fail to prevent conception/wrong 

usage may promote conception 

 

Surgical Method :                                                                      

Merits – Highly effective / Block gamete transport  

 

Demerits – Not reversible / Can affect health if not performed in hygienic 

conditions.                                                                     

(b)IUD’s prevent conception by  

-Increase phagocytosis of sperms.  

-Some suppress sperm motility and fertilizing capacity of sperms by 

releasing Cu++ ions.  

- Hormone releasing IUD’s make uterus unsuitable for  implantation and 

cervix hostile to sperms.              
                                                                                                                    (Any two points) 

     

 

 

½ 

 

½ 

 

 

½ 

 

½ 

 

 

 

½+½ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 

26. (a)Large number of plants can be grown in short period of time, 

useful where sexual reproduction is not possible, plants without 

seeds can be multiplied, every plant has same genetic makeup.                                             
                                                                                                        (Any two advantages) 

(b)Any part of the plant or explant is grown in a test tube under sterile 

conditions, in nutrients medium ( containing sucrose, vitamins, inorganic 

salts,amino acids, growth regulators like auxin and cytokinin etc)  

   

(c)Banana, Apple, Tomato.                           (Any two food plants)   

½+½ 

 

 

 

½+½ 

 

 

½+½ 

 

 

 

 

 

 

 

 

 

3 

27. (a)This is adaptive radiation leading to divergent evolution. 

Example – Many varieties of Darwin’s finches on the same island arose from 

the original seed-eating finches with altered beaks enabling them to become 

insectivorous and vegetarian finches / A number of marsupials different from 

each other evolved from an ancestral stock but all within the Australian island  

/or any other relevant example.  

(b) 

• Example-Evolution of Placental mammals and Australian Marsupials 

or any other corresponding example of these categories respectively. 

• Convergent evolution.  

½ 

 

 

1 

 

 

 

1 

½ 

 

 

 

 

 

 

 

 

3 
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28. 
Typhoid – Sustained high fever 39-40C/  stomach-pain/ 

constipation.  

 

Pneumonia- severe problems in respiration/in severe cases the lips  and 

fingernails may turn grey to bluish in colour/  chills /cough 

 

Malaria- If chills and high fever occurs in every 3 – 4 days. 

1 

 

 

1 

 

1 

 

 

 

 

 

3 

 SECTION D   

29. (a) A – Geitonogamy   

     B – Autogamy   

 
 
 
 

(b)  

-Anthers and stigma to be close to each other in a bisexual flower 

cleistogamous flower / closed flower / Pollen release and stigma receptivity 

at the same time  
                                                                              (Any two conditions) 

(c)(i)Advantage → Assured seed set /no dependence on pollinators / pure    

                                 breed can be obtained. 

Disadvantage → No genetic variation / Inbreeding depression 

                                             OR 

(c) (ii) 

• Oxalis/ Viola or common pansy/ Commelina .                                                                                                        

• Some flowers do not open at all /cleistogamy/ closed flower hence 

show autogamy. 

½ 

½ 

 

 

 

 

1+1 

 

 

½ 

 

½ 

 

 

½ 

½ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

4 

30. (a) 

• Sewage treatment plant  

• used to treat sewage water before it can be released into water 

body.   

(b)Air helps in growth of flocs (aerobic bacteria along with fungal 

filaments), which decompose organic matter in the sewage using 

oxygen.  

 

(c)(i) Bacterial ‘flocs’ settle down to form activated sludge.  

                                          OR 

(c) (ii)BOD is directly related to the measure of the organic matter 

present in water/ Greater the BOD more is the polluting potential  

 

 

½ 

½ 

 

1+1 

 

 

1 

 

 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

4 
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SECTION E 

 

31. (a) 

(i)  

• It is a cross to determine unknown genotype of an organism showing 

dominant phenotype by crossing  with a recessive parent.  

• A cross between plant with dominant phenotype (example violet 

colour flower) and plant with recessive phenotype( white colour 

flower )(monohybrid cross) is done - 

If the F1 individuals show 1 : 1 ratio between dominant and recessive 

phenotype(violet flower : white flower) ,then the given plant is heterozygous 

(Vv) 

If the F1 individual show  all dominant phenotype (all violet flower) ,then 

plant is homozygous (VV)        / 
                                          

 

 
 

Cross can be explained by taking any other dominant phenotype 

                                     

(ii) 

• Haemohilia is a sex linked recessive trait and human females are 

rarely haemophilic because mother of such a female has to be at least 

carrier and father should be haemophilic.  

•  

                            Mother             Father  

P1 generation   - XXh         x       XhY     

 F1 generation        -   XXh  , XY  , XhXh  , XhY 

Carrier female, normal male, haemophilic female, haemophilic male  / 

  

                          Mother             Father  

P1 generation   - XXh         x       XY     

 F1 generation        -   XX  , XY  , XhX  , XhY 

Normal female, normal male, carrier female,haemophilic male  

 

                     

• A haemophilic female can be born if both the X chromosomes are 

having  haemophilic  gene /  XhXh 

    

 

• clotting of blood is affected /In an affected individual a simple cut 

results in nonstop bleeding.    

 

 

 

½ 

 

 

 

 

 

½+½ 

 

 

½+½ 

 

 

 

 

 

 

 

 

 

½+½ 

½+½ 

 

 

 

 

 

½ 

 

 

 

½ 

½ 

 

 

 

½ 

½ 

 

 

 

 

½ 

 

 

 

 

½ 
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                                                         OR 

 

(b)    a – Transcription  

         c – Translation  

(i) – ‘a’ in Nucleus of cell   

        ‘c’ in Cytoplasm of cell  

(ii) 

• Changes in Event ‘b’  

Splicing ,–Removal of introns (non coding portions) and joining of exons 

(coding parts) from primary transcript.  

 

Capping –An unusual nucleotide methyl guanosine triphosphate is added at 

5’ end of primary transcript.  

 

Tailing –200 – 300 Adenylate residues are added at 3’ end of primary 

transcript 

• These changes are needed to change the primary transcript (hnRNA) 

into a functional mRNA ready to make proteins.  

 

 

 

½ 

½ 

½ 

½ 

 

 

 

½+ ½ 

 

 

½ 

 

½ 

 

 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

     5 

 

 

32. (a) (i)Alien species invasion – when alien species are introduced 

unintentionally or deliberately some of them turn invasive and cause decline 

or extinction of indigenous species.   

 I.Nile Perch – In Lake Victoria in East Africa Nile Perch caused extinction 

of 200 species of cichlid fish.   

 

II. Lantana and Eichhornia – Caused environmental damage and threat to 

native species.  

 

III.Clarias gariepinus – African catfish introduced for aquaculture purposes 

poses a threat to indigenous catfishes in our rivers.   

 

(ii) Regions with high levels of species richness, high degree of endemism 

have been declared as biodiversity hotspots to conserve biodiversity.  

 

In India – Indo-Burma , Himalaya ,Western Ghats and Sri Lanka          

                 

                                                                                        (Any two regions)  

 

 

 

               OR 

 

 

(b) (i) dN/dt = rN 
K – N

K

 
 
 

  

 

 

 

 

 

 

 

1 

 

1 

 

 

½ 

 

½ 

 

 

½+½ 

 

½+½ 

 

 

 

 

 

 

1 
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(ii) 

 

                                 
                                         Sigmoid growth curve 

(iii) 

                                 
J-shaped growth curve 

  

(iv)  

-Logistic Growth curve / Sigmoid growth curve is more realistic 

-A given habitat in nature has enough resources to support a maximum 

possible number beyond which further growth is not possible/ resources 

become limiting factor 

 

 

 

 

 

 

 

 

 

 

 

1 

 

 

 

 

 

 

 

 

 

 

 

 

1 

 

 

 

 

 

1+1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5 

33. (a) 

(i)  

A – Spermatozoa  

B – Spermatid /Spermatozoa 

C – Sertoli cells  

D – Spermatogonium   

(ii)  

Secondary spermatocyte – 23 chromosomes 

  Spermatid – 23 chromosomes  

 

 

 

 

 

½x4 

 

 

½+½ 
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(iii)  

Spermiogenesis – Process by which spermatids are transformed into 

spermatozoa.  

 

Spermiation – Process by which sperm had their head embedded in Sertoli 

cells are released from seminiferous tubules.  

 

  

                                     OR 

(b)  

(i)  P-Megaspore mother cell   

      Q-Megaspores (four megaspores)  

  

(ii)  

(I)Meiosis.   

 

(II) 

• Only one cell   

• Monosporic development   

 

  

(III)          Three free nuclear division 

   

(IV)  

The mature female gametophyte has 3 cells at micropylar end – Egg 

apparatus (two synergids and one egg cell) with thickenings called filiform 

apparatus in synergids, three cells at chalazal end – Antipodals, large central 

cell with two polar nuclei, so it is 8-nucleated and 7-celled.     / 
 

                                

 

1 

 

 

1 

 

 

 

½ 

½ 

 

½ 

 

½ 

½ 

 

 

½ 

 

 

 

 

½x4 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5 
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अंकन योजना 

कडाई से गोपनीय 

(केवल आंतरिक औि प्रततबंतित उपयोग के तलए) 

सीतनयि सू्कल सतटितिकेट पिीक्षा, 2025 

तवषय का नाम जीवतवज्ञान (तवषय कोड 044) (पेपि कोड 57/7/2) 

 

सामान्य तनरे्दश:- 

 

1 आप जानते हैं तक उम्मीर्दवािो ंके वास्ततवक औि सही मूल्ांकन में मूल्ांकन सबसे महत्वपूर्ि 

प्रतिया है। मूल्ांकन में एक छोटी सी गलती गंभीि समस्याएं पैर्दा कि सकती है जो 

उम्मीर्दवािो ंके भतवष्य, तशक्षा प्रर्ाली औि तशक्षर् पेशे को प्रभातवत कि सकती है। गलततयो ं

से बचने के तलए, यह अनुिोि तकया जाता है तक मूल्ांकन शुरू किने से पहले, आपको स्पॉट 

मूल्ांकन तर्दशातनरे्दशो ंको ध्यान से पढ़ना औि समझना चातहए। 

2 "मूल्ांकन नीतत एक गोपनीय नीतत है क्ोतंक यह आयोतजत पिीक्षाओ ंकी गोपनीयता, तकए 

गए मूल्ांकन औि कई अन्य पहलुओ ंसे संबंतित है। तकसी भी तिह से जनता को इसका लीक 

होने से पिीक्षा प्रर्ाली पटिी से उति सकती है औि लाखो ंउम्मीर्दवािो ंके जीवन औि भतवष्य 

को प्रभातवत कि सकती है। इस नीतत/र्दस्तावेज को तकसी को भी साझा किना, तकसी पतिका 

में प्रकातशत किना औि समाचाि पि/वेबसाइट आतर्द में छपना बोडि औि आईपीसी के तवतभन्न 

तनयमो ंके तहत काििवाई को आमंतित कि सकता है। 

3 मूल्ांकन अंकन योजना में तर्दए गए तनरे्दशो ंके अनुसाि तकया जाना है। यह तकसी की अपनी 

व्याख्या या तकसी अन्य तवचाि के अनुसाि नही ंतकया जाना चातहए। अंकन योजना का कडाई 

से पालन तकया जाना चातहए औि िातमिक रूप से पालन तकया जाना चातहए। तथातप, 

मूल्ांकन किते समय, जो उत्ति नवीनतम सूचना या ज्ञान पि आिारित हैं औि/या नवाचािी हैं, 

उनका मूल्ांकन उनकी शुद्धता के तलए तकया जा सकता है अन्यथा औि उन्हें उतचत अंक तर्दए 

जाएं। कक्षा-XII में, योग्यता आिारित र्दो प्रश्ो ंका मूल्ांकन किते समय, कृपया तर्दए गए उत्ति 

को समझने का प्रयास किें  औि यतर्द उत्ति अंकन योजना से नही ंहै लेतकन उम्मीर्दवाि द्वािा 

सही योग्यता की गर्ना की गई है, तो भी उतचत अंक तर्दए जाने चातहए।  

4 अंकन योजना में उत्तिो ंके तलए केवल सुझाए गए मूल् तबंरु्द हैं 

ये केवल तर्दशा-तनरे्दशो ंकी प्रकृतत के हैं औि पूर्ि उत्ति नही ंहैं। छािो ंकी अपनी अतभव्यक्ति हो 

सकती है औि यतर्द अतभव्यक्ति सही है, तो तनयत अंक तर्दनुसाि तर्दए जाने चातहए। 

5 प्रिान पिीक्षक को पहले तर्दन प्रते्यक मूल्ांकनकताि द्वािा मूल्ांकन की गई पहली पांच उत्ति 

पुक्तस्तकाओ ंको पढ़ना चातहए, तातक यह सुतनतित तकया जा सके तक अंकन योजना में तर्दए गए 

तनरे्दशो ंके अनुसाि मूल्ांकन तकया गया है। यतर्द कोई तभन्नता है, तो तवचाि-तवमशि औि चचाि 

के बार्द शून्य होना चातहए। मूल्ांकन के तलए शेष उत्ति पुक्तस्तकाएं केवल यह सुतनतित किने 

के बार्द र्दी जाएंगी तक व्यक्तिगत मूल्ांकनकतािओ ंके अंकन में कोई महत्वपूर्ि तभन्नता नही ं

है। 

6 मूल्ांकनकताि जहां भी उत्ति सही है, वहां (√) तचतित किें गे। गलत उत्ति के तलए CROSS 'X' 

अंतकत तकया जाना चातहए। मूल्ांकनकताि मूल्ांकन किते समय सही (✓) नही ंडालेंगे, 

तजससे यह आभास होता है तक उत्ति सही है औि कोई अंक नही ंतर्दया जाता है। यह सबसे 

आम गलती है जो मूल्ांकनकताि कि िहे हैं। 

7 यतर्द तकसी प्रश् में भाग हैं, तो कृपया प्रते्यक भाग के तलए र्दाई ंओि अंक र्दें। प्रश् के तवतभन्न 

भागो ंके तलए तर्दए गए अंको ंको तब कुल तकया जाना चातहए औि बाएं हाथ के मातजिन में 

तलखा जाना चातहए औि घेि तलया जाना चातहए। इसका सख्ती से पालन तकया जा सकता है। 
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8 यतर्द तकसी प्रश् में कोई भाग नही ंहै, तो अंक बाएं हाथ के मातजिन में तर्दए जाने चातहए औि घेिा 

जाना चातहए। इसका सख्ती से पालन भी तकया जा सकता है। 

9 यतर्द तकसी छाि ने एक अततरिि प्रश् का प्रयास तकया है, तो अतिक अंक के योग्य प्रश् का 

उत्ति बिकिाि िखा जाना चातहए औि रू्दसिे उत्ति को "अततरिि प्रश्" नोट के साथ स्कोि 

तकया जाना चातहए। 

  10 िुतट के संचयी प्रभाव के तलए कोई अंक नही ंकाटा जाना चातहए। इसे केवल एक बाि रं्दतडत 

तकया जाना चातहए। 

  11 0-70 अंको ंके पूर्ि पैमाने का उपयोग किना होगा। कृपया पूर्ि अंक रे्दने में संकोच न किें  यतर्द 

उत्ति इसके योग्य है। 

  12 प्रते्यक पिीक्षक को आवश्यक रूप से पूिे कायि घंटो ंके तलए मूल्ांकन कायि किना होता है, 

अथाित प्रतततर्दन 8 घंटे औि मुख्य तवषयो ंमें प्रतततर्दन 20 उत्ति पुक्तस्तकाओ ंऔि अन्य तवषयो ंमें 

प्रतततर्दन 25 उत्ति पुक्तस्तकाओ ंका मूल्ांकन किना होता है (तवविर् स्पॉट तर्दशातनरे्दशो ंमें तर्दए 

गए हैं)। 

  13 सुतनतित किें  तक आप अतीत में पिीक्षक द्वािा की गई तनम्नतलक्तखत सामान्य प्रकाि की िुतटयां 

नही ंकिते हैं: - 

● उत्ति पुक्तस्तका में उत्ति या उसके भाग का मूल्ांकन तकए तबना छोडना। 

● तकसी उत्ति के तलए तर्दए गए अंक से अतिक अंक रे्दना। 

● तकसी उत्ति पि तर्दए गए अंको ंका गलत योग । 

● उत्ति पुक्तस्तका के अंर्दि के पन्नो ंसे शीषिक पृष्ठ पि अंको ंका गलत स्थानांतिर्। 

● शीषिक पृष्ठ पि गलत प्रश् के अनुसाि टोटल। 

● शीषिक पृष्ठ पि र्दो सं्तभो ंके अंको ंका गलत योग। 

● गलत भव्य कुल। 

● शब्ो ंऔि आंकडो ंमें अंक मेल नही ंखाते/समान नही ंहोते हैं। 

● उत्ति पुक्तस्तका से अंको ंका ऑनलाइन पुिस्काि सूची में गलत स्थानांतिर्। 

● उत्तिो ंको सही के रूप में तचतित तकया गया है, लेतकन अंक नही ंतर्दए गए हैं। 

(सुतनतित किें  तक सही तटक माकि  सही औि स्पष्ट रूप से इंतगत तकया गया है। यह 

केवल एक पंक्ति होनी चातहए। गलत उत्ति के तलए एक्स के साथ भी ऐसा ही है। 

● उत्ति का आिा या एक तहस्सा सही औि बाकी गलत के रूप में तचतित तकया गया 

था, लेतकन कोई अंक नही ंतर्दया गया था।  

 14 उत्ति पुक्तस्तकाओ ंका मूल्ांकन किते समय यतर्द उत्ति पूिी तिह से गलत पाया जाता है, तो 

इसे िॉस (X) के रूप में तचतित तकया जाना चातहए औि शून्य (0) अंक तर्दए जाने चातहए। 

 15 कोई भी गैि-मूल्ांकन भाग, शीषिक पृष्ठ पि अंको ंको न ले जाना, या उम्मीर्दवाि द्वािा पता 

लगाई गई कुल िुतट मूल्ांकन कायि में लगे सभी कतमियो ंके साथ-साथ बोडि की प्रततष्ठा को भी 

नुकसान पहंचाएगी। इसतलए, सभी संबंतितो ंकी प्रततष्ठा को बनाए िखने के तलए, यह तिि से 

र्दोहिाया जाता है तक तनरे्दशो ंका साविानीपूविक औि तववेकपूर्ि तिीके से पालन तकया जाए। 

  16 पिीक्षको ंको वास्ततवक मूल्ांकन शुरू किने से पहले "स्पॉट मूल्ांकन के तलए तर्दशातनरे्दश" 

में तर्दए गए तर्दशातनरे्दशो ंसे परितचत होना चातहए। 

  17 प्रते्यक पिीक्षक यह भी सुतनतित किेगा तक सभी उत्तिो ंका मूल्ांकन तकया गया है, अंको ंको 

शीषिक पृष्ठ पि ले जाया गया है, सही ढंग से टोटल तकया गया है औि आंकडो ंऔि शब्ो ंमें 

तलखा गया है। 

  18 उम्मीर्दवाि तनिािरित प्रोसेतसंग शुल्क के भुगतान पि अनुिोि पि उत्ति पुक्तस्तका की 

िोटोकॉपी प्राप्त किने के हकर्दाि हैं। सभी पिीक्षको/ंअपि मुख्य पिीक्षको/ंमुख्य पिीक्षको ंको 

एक बाि तिि यार्द तर्दलाया जाता है तक वे यह सुतनतित किें  तक मूल्ांकन प्रते्यक उत्ति के तलए 

अंक योजना में तर्दए गए मूल् तबंरु्दओ ंके अनुसाि सख्ती से तकया जाता है। 
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अंकन योजना 

वरिष्ठ माध्यममक मवद्यालय पिीक्षा, 2025 

जीव मवज्ञान (मवषय कोड-044) 

[पेपि कोड: 57/7/2] 

          अमिकतम अंक: 70 

 

प्रश्न 

संख्या  
अपेमक्षत उत्ति/मूल्य अंक 

अंक कुल 

अंक 

                                        खण्ड क   

1. 

 

(B) / रूपांतरित जीवाणु प्लाज्मिड 1 1 

2. 

(C) /    

1 1 

3. (B) / बृहत् भक्षकाणु (मैक्रोफेजेज) मू्यकस-स्राववत किने वाली कोविकाएँ, जो ििीि में प्रववष्ट 

होने वाले सूक्ष्मजीवो ंको नष्ट किती हैं। 

1 1 

4. (B) / असमान कोविकाएँ-एक वृहत् अगुवणत वितीयक अंडक औि एक लघु अगुवणत धु्रवीय 1 1 

5. (A) / सभी लंबे 1 1 

6. (B) / एलीजा (ELISA) - प्रवतजन प्रवतिक्षी (ऐटंीबॉडी) पिस्पि वक्रया 1 1 

7. (D) /  िल्यविवकत्सा किवाने वाले व्यज्मियो ंको अकसि ददद  वनवािक के रूप में दी जाती है। 1 1 

8. (A) / 8.1% 1 1 

9. (C) / बैवसलस थुरिंवजएंवसस 1   1 

10. A   / P- शीषष मासंाहािी ,  Q- अपिद , R-मितीयक उपभोक्ता 1 1 

11. (C) / लघु अव्यिेक पुनिावृवि अनुक्रम जो सुकेन्द्रकी जीनोम का बडा भाग बनाते हैं। 1 1 

12. (A) / बहुअंडपी, ववयुिांडपी 1 1 

13. (A) / अवभकथन (A) औि कािण (R) दोनो ंसही हैं औि कािण (R), अवभकथन (A) की सही 

व्याख्या किता है। 

1 1 

14. (C) अवभकथन (A) सही है, पिनु्त कािण (R) गलत है। 1 1 

15. (C) / अमभकथन (A) सही है, पिन्तु कािण (R) गलत है। 1 1 

16. (A) / अवभकथन (A) औि कािण (R) दोनो ंसही हैं औि कािण (R), अवभकथन (A) की सही 

व्याख्या किता है। 

1 1 
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खण्ड ख 

17. (क)    बैसिलि थुर िंसिएिंसिि से क्राई जीन को कपास के पौधों में डाला गया ।  

     जीन नननरक्रय निष प्रोटीन (प्रोटॉनससन) उत्पन्न करता है, जब कीट इस प्रोटीन को ननगलता है करता तो यह कीट की 

आंत के क्षारीय  पीएच के कारण सनक्रय निष में पररिनतित हो जाता है, तथा कीटों की मध्य-आंत उपकला कोनिकाओ ं

की सतह से बंध जाता है तथा निद्र बनाता है नजस कारण से कोनिकाए ँफूलकर फट जाती हैं और पररणामस्िरूप कोट 

की मृत्यु हो जाती है। 

                                                                  अथिा 

 (ख)    आणनिक ननदान तकनीकें : 

-पीसीआर (पॉलीमरेज़ चेन ररएसिन) - यह तकनीक बहतु कम सादं्रता में जीिाणु या िायरल रोगजनक की उपनस्थनत 

का पता लगा सकती है यानी नकसी बीमारी का िुरुआती पता लगाने में मदद करती है। 

- संनदग्ध कैं सर रोनगयों में जीन के उत्पररितिन का पता रोगी की कोनिकाओ ंमें पूरक डीएनए के साथ जाचं को 

हाइनिडाइज़ करके लगाया जा सकता है, इसके बाद ऑटोरेनडयोग्राफी का उपयोग करके पता लगाया जा सकता है। 

- एजंाइम सहलग्न प्रनतरक्षा िोषक आमापन (एलाइजा) प्रनतजन प्रनतरक्षी पारस्पररक नक्रया के नसद्ातं पर कायि करता है 

/ निनिष्ट प्रनतजन के नखलाफ िरीर द्वारा संशे्लनषत प्रनतरक्षी का पता लगाता है/ रोगी में प्रनतजन की उपनस्थनत का पता 

लगाना। 

                                                                                               (कोई दो तकनीकें ) 

   ½ 

 

 ½x3 
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18. (क) मानि िरीर टीके के निरुद् प्रनतरक्षी उत्पन्न करता है जो िास्तनिक सकं्रमण के दौरान रोगजनक एजेंटों को बेअसर 

कर देता है, टीके मेमोरी बी और टी कोनिकाए ंभी उत्पन्न करते हैं। 

टीकाकरण रोगज़नक़ को िीघ्र पहचानकर और प्रनतरक्षी उत्पन्न करके रोगों की रोकथाम करेगा नजससे समाज रोगमुक्त हो 

जाएगा। 

                          अथवा 

(ख) जठरांत्र मागि में शे्लरमा आलेय / पेट में एनसड/मंुह में लार 

                                                                                             (कोई दो) 

 

½+½ 

    

   1 
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19. (क) प्रसव के संकेत पूर्ण ववकवसत भ्ररू् और प्लेसेंटा से उत्पन्न होते हैं जो हल्के गर्ाणशय संकुचन को प्रेररत करते हैं, वजसे भ्ररू् 

वनष्कासन प्रवतवतण कहा जाता ह,ै यह मात ृवपट्यूटरी से ऑक्सीटोवसन के स्राव को सविय करता ह,ै जो गर्ाणशय की मांसपेवशयों पर 

कायण करता ह ैऔर मजबूत गर्ाणशय संकुचन का कारर् बनता ह।ै 

             अथवा 

(ख) 

 

(i) मावसक धमण चि बंद हो जाता ह ै/ रजोवनववृि लगर्ग 50 वर्ण की आयु में होती ह।ै 

(ii) अण्डजनन के दौरान अधणसूत्रीववर्ाजन I और II असमान ववर्ाजन होते हैं जो एक बडी कोवशका और एक छोटे ध्रवुीय वपंड का  

वनमाणर् करते हैं / असमान कोवशका गठन यह सुवनवित करेगा वक बडी कोवशका में अवधक कोवशकाद्रव्य और युग्मनज के बेहतर 

अवततत्व के वलए अवधक पोर्क तत्व आरवित हों। 

अधणसूत्रीववर्ाजन I और II शिुार्जुनन में समान ववर्ाजन होते हैं। 

 

½x4 

 

 

 

 

 

1 

 

½ 

 

 

½ 2 

20. (क) ड्रायोपिथेकस / रामापिथेकस (कोई एक) 

(ख) तंजावनया / इवियोवपया (कोई एक) 

(ग) ऑस्ट्रेलोपिथेपसन 

 

 

½x4 
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(घ) होमो इरेक्टस 

 

  
2  

21. (क) ड्रोसोमिला मेलानोगास्टि  

(ख) 

-प्रयोगशाला में सिल मसंथेमटक माध्यम पि उगाया जा सकता है। 

-2 सप्ताह में जीवन चक्र पूिा किती हैं।  

-एकल संभोग बडी संख्या में ममखखयों का उत्पादन किता है।  

- नर और मादा के बीच स्पष्ट अंति / यौन मिरूपता मदखाता है  

- कम क्षमता के सूक्ष्मदशी के द्वारा कई प्रकाि की वंशानुगत मवमविताए ंदेखी जाती हैं।  

                                                                                                  (कोई दो) 

                                                                                                                                       

     

1 

 

 

½x2 

 

 

 

 

 

 

 

 

 

 

 

2 

                                             खण्ड ग   

22. एक जलीय पारिमस्थमतकी तंत्र में- चारण खाद्य श्रंखला (जीएिसी)।   

एक स्थलीय पारिमस्थमतकी तंत्र में- अपरद (डेमिटस )  खाद्य श्रखंला (डीएिसी)।  

 

मतभेद–  

                                                                                                             (कोई दो) 

 चारण खाद्य श्रखंला अपरद खाद्य श्रखंला 

1

. 

ऊजाष का हस्तातंिण एक खाद्य श्रंखला में 

उत्पादकों से शुरू होता है  

ऊर्ाा का हस्ां्रण अपरद / कार्ानिक पदाथों के 

नवघटि से शरुू हो्ा ह ै 

 इसके माध्यम से अमिक ऊजाष प्रवाह होता 

है  

इससे कम मात्रा में ऊजाष प्रवामहत होती है  

 सूयष से प्राप्त ऊजाष मरत काबषमनक पदाथों से प्राप्त ऊजाष 

 जलीय प्रणाली में ऊजाष की प्रमुख साधन  स्थलीय प्रणाली में ऊजाष की प्रमुख साधन  

½ 

½ 

 

 

 

 

 

1x2 
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23. • प्रयुक्त तकनीक आरएनए अंतरिेप (आरएनएआई) है 

 

• एग्रोबैपक्टररयम संवाहकों का उपयोग कर सूत्राकृवम वववशष्ट जीनों को परपोर्ी पौधें में प्रवेश कराया , डीएनए का प्रवेश इस 

प्रकार कराया जाता ह ैवक परपोर्ी कोवशकाओ ंमें अिण (सैंसद्ध) व प्रवत-अिण (ऐटंीसैंसद्ध) आरएनए का वनमाणर् करता ह,ै ये 

दोनों आरएनए एक दसूरे पूरक होते हैं जो विसूत्रीय आरएनए का वनमाणर् करते हैं वजससे आरएनए अंतरिेप प्रारंर् होता ह,ै 

और इसी कारर् से सूत्राकृवम वववशष्ट दतू आरएनए वनवष्िय हो जाते हैं फलतवरूप पारजीवी परपोर्ी में वववशष्ट अंतरिेपी 

आरएनए की उपवतिवत से परजीवी जीववत नहीं रह पाता हAै  

 

1 

 

 

 

1/2x4 

 

 

 

 

 

 

3 

24. (क) ATCGTACTA  

(ख) कमजोि हाइड्रोजन बिंों िािा िारित आिाि युग्म/ A और T दो H-आबंि तथा G और C के साथ तीन H-

आबंि बनाते हैं  

 

1 

 

1 
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(ग)  

• एक दो राज़्जुक डीएनए में एडननन ि थाइनमन तथा ग्िाननन ि साइटोसीन के बीच अनुपात नस्थत ि 
एक दूसरे के बराबर रहता है।   

• इिमवन चािगि                                                             

 

 

 

½ 

 

½ 

 

 

 

 

3 

25. (क) 

गर्णवनरोधक गोवलयााँ 

गुर् - कम दषु्प्रर्ावों के साि प्रर्ावी / उत्िमर्ीय /लागत प्रर्ावी/उपयोगकताण के अनुकूल। 

 

दोर् - लंबे समय तक लेन ेपर दषु्प्रर्ाव होते हैं / गोवलयााँ यवद नहीं ली जाती हैं और एक ववशेर् पैटनण में दोहराई नहीं जाती हैं 

तो गर्णधारर् को रोकने में ववफल हो सकती हैं / गलत उपयोग गर्णधारर् को बढावा दे सकता हैI 

 

शल्य वचवकत्सा पद्धवत: 

गुर् - अत्यवधक प्रर्ावी/युग्मक पररवहन को अवरुद्ध करती हैं। 

दोर् - उत्िमर्ीय नहीं/तवात्य को प्रर्ाववत कर सकती हैं यवद तवच्छ पररवतिवतयों में नहीं वकया जाता ह।ै  

(ख) आईयूडी गर्णधारर् को रोकते हैं 

-शिुार्ओु ंके र्िकार्वुिया को बढाते हैं। 

- Cu++  या क ापर (ताबंा) आयनों को जारी करके शिुार् ुकी गवतशीलता और वनरे्चन िमता को दबाते हैं। 

-हामोन मोचक करन ेवाल ेआईयूडी गर्ाणशय को प्रत्यारोपर् के वलए अनुपयुक्त बनाते हैं  और गर्ाणशय ग्रीवा को शुिार्ओु ंके 

वलए प्रवतकूल बनाते हैं। 

                                                                                (कोई दो नबंदु) 

 

 

 

½  

 

 

½  

 

½  

½  

 

 

 

½+½  
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26. (क) कम समय में बडी सखं्या में पौधे उगाए जा सकते हैं, जहाँ लैंनगक प्रजनन संभि नहीं है, िहाँ उपयोगी है, नबना बीज 

िाले पौधों को भी बढाया जा सकता है, हर पौधे की आनिुंनिक संरचना एक जैसी होती है। 

                                                                                                                         (कोई दो) 

(ख) पौधे के नकसी भी भाग या एससपलांट को पोषक माध्यम (सुक्रोज, निटानमन, अकाबिननक लिण, अमीनो एनसड, 

ऑनससन और साइटोकाइननन जैसे िृनद् ननयामक आनद युक्त) में रोगाणुरनहत पररनस्थनतयों में टेस्ट ट्यबू में उगाया जाता है 

 

(ग) केला, सेब, टमाटर                                                 (कोई दो) 

 

 
½+½ 

 

 

 

½+½ 

 

 

½+½ 
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27. (क) यह अनुकूली वववकरर् ह ैजो अपसारी ववकास की ओर ले जाता ह।ै 

उदाहरर् - एक ही िीप पर डाववणन के वफंच की कई वकतमें मलू बीज खाने वाल ेवफंच से उत्पन्न हुई,ं वजनकी चोंच बदल गई िी वजससे 

वे कीटर्िी और शाकाहारी वफंच बन गए / एक दसूरे से अलग कई मासुणवपयल्स एक पैतकृ तटॉक से ववकवसत हुए लेवकन सर्ी 

ऑतरेवलयाई िीप / या वकसी अन्य प्रासंवगक उदाहरर् के र्ीतर। 

(ख) 

• उदाहरर्-प्लेसेंटल ततनधाररयों और ऑतरेवलयाई मासुणवपयल्स का ववकास या िमशः इन श्रेवर्यों का कोई अन्य संगत 

उदाहरर्। 

• अवर्सारी ववकास। 

½ 

1  

 

 

 

1  

 

½  

 
 
 
 

 
3  
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28. टाइफॉइड  - लगातार 39-40 वडग्री सेवल्सयस बुखार/ पेट ददण/ कब्ज। 

 

न्यूमोवनया- सांस लेने में गंर्ीर समतया / गंर्ीर मामलों में होंठ और नाखनू र्रेू से नीले रंग के हो सकते हैं / ठंड लगना / खांसी 

 

मलेररया- अगर हर 3-4 वदन में ठंड लगना और तेज बुखार हो। 

 

1  

 

1  

 

 

1 
3  

                                       खण्ड घ 
  

29. (क)  A– सजात परुपी परागण  

  B – स्ियुग्मन  

(ख)  

- उभयनलंगी फूल में परागकोष और िनतिकाग्र एक दूसरे के करीब होते हैं  / नसलस्टोगैमस फूल/ बंद फूल /  एक ही समय में 

पराग उत्सजिन और िनतिकाग्र ग्रहणिीलता  

                                                                                                  (कोई र्दो तबन्रु्द ) 

 (ग) (i) लाभ → सनुननित बीज पैदा करते है / परागणकों पर कोई ननभिरता नहीं / िुद् नस्ल प्राप्त की जा सकती है। 

नुकसान → कोई आनुिंनिक नभन्नता नहीं / अंतःप्रजनन अिसाद 

                                               अथिा       

(ग) (ii) 

• ऑससानलस / िायोला या सामान्य पैंसी / कॉमेनलना  

• कुि फूल नबल्कुल नहीं खुलते / सलेइस्टोगमी / बंद फूल इसनलए ऑटोगैमी नदखाते हैं। 

 

½  

½  

 

1+1  

 

 

 

½  

½  

 

½  

½  
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30. (क) • िानहतमल उपचार सयन्त्र /  सीिेज ट्रीटमेंट पलाटं  

       • िानहतमल के पानी को जल ननकाय में िोडे जाने से पहले उसका उपचार करने के नलए उपयोग नकया जाता है।  

(ख) िायु ऊणिक (किकीय ततंुओ ंसे जुडे जीिाणओु ंकी जाली) के निकास में मदद करती है, जो ऑससीजन का उपयोग 

करके िानहतमल में काबिननक पदाथों को निघनटत करते हैं।  

 

(ग) (i) जीिाणु ऊणिक सनक्रयत आपकं बनाने के नलए नीचे बैठते हैं।  

                                   अथवा 

(ग) (ii) बीओडी सीधे पानी में मौजदू काबिननक पदाथों के माप से संबनंधत है / बीओडी नजतना अनधक होगा, प्रदूषण की 

संभािना उतनी ही अनधक होगी 

½ 

½ 

 

1+1 

 

 

1 

 

 

1 

 
 
 
 
 
 
 

4  
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                                                       खण्ड ङ 

 

31. (क) 

(i) यह एक अप्रभावी जनक के साथ पाि किके प्रमुख िेनोटाइप मदखाने वाले जीव के अज्ञात जीनोटाइप को मनिाषरित 

किने के मलए एक क्रॉस है।  

 प्रमुख िेनोटाइप (उदाहिण बैंगनी िंग के िूल) वाले पौिे औि पनुिावती िेनोटाइप (सिेद िंग के िूल) (मोनोहाइमिड 

क्रॉस) वाले पौिे के बीच एक क्रॉस मकया जाता है - 

यमद F1 पीढी प्रमुख औि पनुिावती िेनोटाइप (बैंगनी िूल: सिेद िूल) के बीच 1: 1 अनुपात मदखाते हैं, तो मदया 

गया पौिा मवषमयुग्मजी (Ww) है। 

 

सभी F I पीढी में प्रभािी ऩिनोटाइप ( सभी बैगनी ़ूिल) नदखाता है तो पौधे समयुग्मजी है (WW) है  

                                         / 

 

 

क्रॉस को नकसी अन्य प्रमुख फेनोटाइप को लेकर समझाया जा सकता है 

                                      

(ii) 

• हीमोनफनलया एक नलंग सहलग्न अप्रभािी मवशेषता है और मानि मादाए ंिायद ही कभी हीमोनफनलक होती 

हैं सयोंनक ऐसी मादा की मां को कम से कम िाहक होना चानहए और नपता को हीमोनफनलक होना चानहए 

•               माता          मपता  

P1 पीढी -             XXh    x    XY     

 F1 पीढी - XX,  XY,  Xh
X  ,  Xh

Y 

सामान्य मादा, सामान्य पुरुष, वाहक मादा, हीमोमिमलक पुरुष  /                      

          

 

                      माता                    मपता  

P1 पीढी -         XXh          x        XhY   

 F1 पीढी -    XXh  , XY, XhXh  , XhY 

वाहक मादा, सामान्य पुरुष, हीमोमिमलक मादा, हीमोमिमलक पुरुष 

 

 

½ 

 

 

 

½+½ 

 

 

½+½ 

/ 

 

 

 

 

 

 

 

 

½+½ 

½+½ 

 

 

 

 

½ 

 

 

½ 

½ 

 

 

 

 

 

½ 

½ 
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• यनद दोनों X गुणसूत्रों में हीमोनफनलक जीन हो तो हीमोनफनलक मनहला पैदा हो सकती है / XhXh  

 

• िक्त का थखका या जमना प्रभानित होता है/ एक प्रभामवत व्यमक्त में एक सािािण कट के परिणामस्वरूप 

लगातार िक्तस्राव होता है।    

 

                                                         अथिा 

(ख) a - अनलेुखन 

              c – स्थानांतरण 

(i) – कोमशका के नामभक में 'a'   

      कोमशका के कोमशकाद्रव्य में 'c'  

(ii) 

• पररघटना 'b' में परिवतषन  

संबंधन ,-इंिोन्स (गैि कोमडंग भागों) को हटाना औि प्राथममक प्रमतलेख से एखसॉन (कोमडंग भागों) को जोडना।  

आच्िादन -एक असामान्य न्यूमखलयोटाइड ममथाइल गुआनोमसन िाइिॉस्िेट प्राथममक प्रमतलेख के 5 ' िोर में जोडा 

जाता है।  

पुच्िन -200 - 300 एमडनाइलेट अवशेष प्राथममक प्रमतलेख के 3 '  िोर में जोडे जाते हैं 

• प्रोटीन बनाने के मलए तैयाि एक कायाषत्मक एमआिएनए में प्राथममक प्रमतलेख (एचएनआिएनए) को बदलने 

के मलए इन परिवतषनों की आवश्यकता होती है।  

 

½ 

 

 

½ 

 

 

 

½ 

½ 

½ 

½ 

 

 

½+½ 

 

½ 

 

 

½ 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5 

32. (क) (i) निदेिी प्रजानतयों का आक्रमण - जब निदेिी प्रजानतयों को अनजाने में या जानबझूकर लाया जाता है, तो उनमें से 

कुि आक्रामक हो जाती हैं और देिी प्रजानतयों के पतन या निलुप्त होने का कारण बनती हैं। 

 

I. नील पचि - पूिी अफ्रीका में निसटोररया झील में नील पचि ने नसनसलड मिली की 200 प्रजानतयों को निलुप्त कर नदया। 

 

II. लैंटाना और इचोननिया - पयाििरणीय क्षनत और देिी प्रजानतयों के नलए खतरा पैदा नकया। 

 

III. सलेररयस गैरीनपनस - जलीय कृनष उदे्दश्यों के नलए पेि की गई अफ्रीकी कैटऩिि हमारी ननदयों में देिी कैटऩिि के 

नलए खतरा बन गई है। 

 

(ii) उच्च स्तर की प्रजानतयों की समृनद्, उच्च स्तर की स्थाननकता िाले के्षत्रों को जैि निनिधता के संरक्षण के नलए जैि 

निनिधता हॉटस्पॉट के रूप में घोनषत नकया गया है। 

 

भारत में - इंडो-बमाि, नहमालय, पनिमी घाट और श्रीलंका                                                                                                                     

                                                                                                                (कोई भी दो के्षत्र) 
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                                                                                        अथिा 

(ख) (i)   

 

(ii) 

 

नसग्मॉइड िनृद् िक्र  

 

(iii) 

 

J-आकार का िृनद् िक्र 

 

(iv) 

-संभारतंत्र िृनद् िक्र / नसग्मॉइड िनृद् िक्र अनधक यथाथििादी है 

-प्रकृनत में नकसी नदए गए आिास में अनधकतम संभि सखं्या का समथिन करने के नलए पयािप्त संसाधन होते हैं, नजसके आगे 

आगे निकास संभि नहीं है/ संसाधन सीनमत कारक बन जाते हैं 
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33. 
(a) 

(i)  

A – िुक्राणु  

B – िुक्रानुप्रसू / िुक्राणु  

C – सटोली कोनिकाए ँ 

D – िुक्राणजुनन  

(ii)  

नद्वतीयक िुक्राणुकोनिका – 23 गुणसतू्र  

िुक्राण ु– 23 गुणसूत्र  

(iii)  

िुक्राणुजनन – िह प्रनक्रया नजसके द्वारा िुक्रानुप्रसू िुक्राणु में पररिनतित हो जाते हैं।  

 

िुक्राणुजनन – िह प्रनक्रया नजसके द्वारा िुक्राणु का नसर सटोली कोनिकाओ ंमें धंसा हआु होता है और िुक्रजनन 

ननलकाओ ंसे मुक्त हो जाता है।  

 

                                                         अथिा 

 

(b)  

(i) P-गुरु बीजाण ुमातृ कोनिकाए ं 

Q- गुरु बीजाणु  (चार गुरुबीजाणु )  

 

(ii)  

(I) अधिसूत्रीनिभाजन।  

(II) 

• केिल एक कोनिका 

• मोनोस्पोररक निकास 

 

(III) तीन मुक्त नानभकीय निभाजन 

 

(IV) 
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पररपसि मादा युग्मकोनिद् माइक्रोपाइलर नसरे पर 3 कोनिकाए ँहोती हैं - अंडा तंत्र (दो सहायकोनिका और एक अंडा 

कोनिका) नजसमें सहायकोनिका में ij ,d fo'ks"k lgk; dksf'kdh; LFkwyu होकर तंतुरूप उपकरण बनाता है, fuHkkxh; 

नसरे पर तीन कोनिकाए ँ- izfrO;klkar, दो ध्रिुीय नानभक िाली बडी कें द्रीय कोनिका, इसनलए यह 8-कें द्रकयुक्त और 7-

कोनिका िाली होती है।  

/ 
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